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Note : This paper is of Forty (40) marks divided into three
(03) sections A, B and C. Attempt the questions
contained in these sections according to the detailed
instructions given therein.

SECTION–A/

(Long Answer Type Questions)/

Note : Section 'A' contains four (04) long answer type
questions of Nine and half (9½) marks each. Learners
are required to answer any two (2) questions only.

(2×9½=19)
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(9½)

1. What do you understand by the word mensura ? Define

forest mensuration. What are the factors that effect the

relative accuracy of measurement ?

2. What is Sampling ? Define kind of sampling with suitable

example ?

3. How the age of standing and felled trees is determined ?

Describe in detail.

4. What do you understand by forest inventory ? Describe

objectives and kinds of enumeration.
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SECTION–B/

(Short Answer Type Questions)/

Note : Section 'B' contains eight (08) short answer type

questions of four (04) marks each. Learners are required

to answer any four (04) questions only. (4×4=16)

1. Describe measurement of tree diameter with the help of

calliper.

2. Describe objectives of crown measurement.

3. Define volume table.

4. Define methods of height measurement of trees.
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5. Form Factors.

6. What is yield table and how it is prepared ?

7. Differentiate between stump analysis and stem analysis.

8. Define point sampling.

SECTION–C/

(Objective Type Questions)/

Note : Section 'C' contains ten (10) objective type questions

of half (½) mark each. All the questions of this section

are compulsory. (10×½=05)

(½)

Tick the correct Answer :
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1. The instrument used to determine the age of the tree is :

(a) Pressler's borer

(b) Hypsometer

(c) Meter tape

(d) Swedish gauge.

2. One hactare is equivalent to :

(a) 2.49 acres

(b) 2.54 acres

(c) 2.47 acres

(d) 2.59 acres.

FR-11 [ 5 ] [P.T.O.



6S-182-FR-11

3. Relationship between the diameter and gerts of tree is :

(a) 1/�

(b) 0.3182

(c) 7/22

(d) All of the above.

�

4. Who is considered as father of statistics ?

(a) Pearson

(b) R.A. Fisher

(c) A.L. Bowley

(d) Boddington.
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5. The quarter gerth formula to calculate volume of log is :

(a) g2l/4

(b) 4/g2×l

(c) g2l/16

(d) 16/g2×l

(a) g2l/4

(b) 4/g2×l

(c) g2l/16

(d) 16/g2×l

State True or False :

6. Usual diameter classes used in India are (2. 5.10.).

(True/False)

7. The product of Form factor and total height of tree is form

quotient. (True/False)
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8. The range of simple correlation coefficient is –1 to 1.

(True/False)

9. Form factor is worked out using the formula F=v/h.

(True/False)

F=v/h

10. The maximum spread of the crown along its Widest diameter

is crown width. (True/False)
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